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SECTION-A

Short Questions :(2 Marks)

1). What is Dryness Factor?

2). Write short notes on dry bulb temperature.

3.) Write short notes on dew point temperature.

4.) Write short notes on wet bulb temperature.

5.) Explain triple point of pure substance.
6.) what is critical point

7.) what is Latent Heat.

SECTION-B

Questions  upto 200 words :(10 Marks)

8). In a steam power station, steam flows steadily through a 0.2 m diameter pipeline from the boiler to the turbine. At the boiler end, the steam conditions are found to be: p= 4 MPa, t=400⁰C, h= 3213.6 KJ/Kg and v=0.073m3/kg. At the turbine end, the conditions are found to be: p=3.5 MPa, t= 329⁰C, h= 3202.6 KJ/Kg and v= 0.084m3/Kg. There is a heat loss of 8.5 KJ/Kg from the pipeline. Calculate the steam flow rate

9). Define the terms saturation temperature and saturation pressure. A vessel of 0.3m3 capacity contains 1.5 Kg mixture and steam in equilibrium at a pressure of 5 bar. Calculate (a) the volume and mass of liquid and (b) the volume and mass of water.
10). Find the internal energy of 1 kg of steam at 20 bar when (i)  It is superheated, its temperature being 400°C. (ii) It is wet, its dryness being 0.9
11). Assume superheated steam to behave as a perfect gas from the commencement of superheat and thus obeys Charle’s law. Specific heat for steam = 2 kJ/kg K.   

12). Find the specific volume, enthalpy and internal energy of wet steam at 18 bar with dryness fraction (x) = 0.85, by using Steam Tables and Mollier chart.
13). Calculate the total heat of 5 kg of steam at an absolute pressure of 8 bar having dryness fraction of 0.8. Also calculate heat in kJ required to convert the steam into dry and saturated steam.
SECTION-C

Very Long Questions :(15 Marks)
14). A simple Rankine cycle using water as the working fluid operates between the pressure limits of 7.5 kPa and 1800 kPa. Determine:
a) The cycle thermal efficiency;
b) The steam rate (specific steam consumption)
15). Consider the same Rankine power cycle as we analyzed before.  But this time we are going to superheat the steam in the boiler before allowing it to enter the turbine at 6 MPa.   The steam exits from the turbine will be 100% saturated vapor as shown.  After condensing, saturated liquid enters the pump at a pressure of 0.1 MPa.  Determine (a) the rate of heat transfer into the boiler per unit mass, (b) the net power generation per unit mass. (c) the thermal efficiency
***********

